ma-frame-compat!'4°

ma-frame-compat(A4;B)
=ger Vac€dom((A.2.2.2).1). p=(A.2.2.2).1(a) = B.rframe(A.pre p for a)
& Vkredom((A.2.2.2.2).1).

ef=(A.2.2.2.2).1(kz) =
B.frame(kz.1 affects kz.2)
& B.aframe(kz.1 affects kz.2)
& B.rframe(A.effect ef of kx.1 on kx.2)
& Vkledom((A.2.2.2.2.2).1).

snd=(A.2.2.2.2.2).1(kl) =

(Vtg:Id. (tg € map(Ap.p.1;snd)) = B.sframe(kl.1 sends <kl.2,tg>))
& B.bframe(kl.1 sends on kl.2)
& B.rframe(A.sends snd of kl.1 on kl.2)

clarification:

ma-frame-compat(A4;B)
=ger 1dIdDeqVaedom((A4.2.2.2).1). p=(A.2.2.2).1(a) = B.rframe(A.pre p for a
& (:Knd x Id)product-deq(Knd;Id;KindDeq;IdDeq)Vkzedom((A4.2.2.2.2).1).

ef=(A.2.2.2.2).1(kz) =
B.frame(kz.1 affects kz.2)
& B.aframe(kz.1 affects kz.2)
& B.rframe(A.effect ef of kx.1 on kz.2)
& (:Knd x IdLnk)product-deq(Knd;IdLnk;KindDeq;IdLnkDeq)Vkiedom((A.2.2.2.2.2).1).

snd=(A.2.2.2.2.2).1(kl) =

(Vtg:Id. (tg € map(Ap.p.1;snd) € Id) = B.sframe(ki.1 sends <kl.2,tg>))
& B.bframe(kl.1 sends on kl.2)
& B.rframe(A.sends snd of kl.1 on kl.2)
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